#*3-32. Determine the magnitude and direction # of the
equilibrium force F, 5 exerted along link AB by the tractive
apparatus shown. The suspended mass is 10 kg, Neglect the
size of the pulley at A.

0

10(9.81)=98. 1N

10(4:81)=351N

Free Bady Diagram : The tension in the cord 8 the same throughout the
cord, that is 10(9.81) = 9.81 N.

Equations of Equilibrium ;

LEF=0; F,c080-98.1c0a 75°-98.1cos 45° = 0
F,cos = 94,757 (1
+TIE =0; 98.1sin 79° = 98. 13in 45°= £, , 3in =0
F, 5 8in 8=25.390 121
Solving Egs.[1] and [2] yields

6=150° F,=98.1N Ans




